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ADVANCED COST ACCOUNTING

Time : 3 Hrs. Max.Marks : 80
o TP SHIg H U YT BT W1 A U9 B Sifcrergml yed &, s IR
T AT & AR H S |
Ud SHIE & AT C (TR Ue) BT IR 200—250 &I H G |
T D (" ST Ye) & SR 400—450 &1 7 < |
Part A and B of each question in each unit consist of very short answer
type questions which are to be answered in one or two sentences.
Part C (Short answer type) of each question should be answered in
200-250 words.

Part D (Long answer type) of each question should be answered
within the word limit 400-450.

Unit - I
Q.1 A uRare™ a6 wsd &7 (2)
What is operating cost?
Q.1 B 3 ReAY I ¥ T (MU 57 (2)
What is meant by maintenance charges?
Q.1 C Iard URIAhT & Seed o7 &7 gy | (4)

What are the objectives of transport costing? Explain.
P.T.O.
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OR Calculate for each material :

aReEre arra fafYy {1 Jarell 9 erewrl w® oy g 8? a)  Re-order Level

To what services or businesses is operating costing applied? b) Minimum Level

Q.1 D 4 fIaRTr & MR W AIE S 2018 & folU TP 9 I FaTed c) Maximum Level

AT Ui Far A, & fory v faaror o=t g0 vd Aifid ant ol d) Average Stock Level

T DI | (12)

fooj.k 1= fd-en- #- OR

o B AT 40,000 fFrforRad gaem & wie mad ad S -

HTE ST 2018 H 2000 SIECRERSED 9000 $PTE

T BT AT AT Fre — 80000 SIENISN 3000 TS

gfer 51 3= HaRT | 50 AT WS |R 1200 TS

SITR, HUSTEH UG FollFR BT Il 1,000 q: 3MTeer AT 7800 3PS

ST 50 A U 300 gP1g Ufdfed

TsE T 30 Calculate inventory turnover from the following information :

AT B 80 Maximum Stock 9000 Units

1% 999 500 Order Level 3000 Units

o BT 200 Minimum Stock Level 1200 Units

2T 500 Re-order Quantity 7800 Units

TR TR BT 100 Normal Consumption 300 Units per day

IRETVT U R Y 200 T

e FrRIer Y 500

9 fobrar gfa Fary fob . 0.06

Prepare a statement of operating cost per passenger k.m. for bus
for the month of January 2018, from the following particulars.
Also calculate profit for the month.
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OR
AT fRIT & SRgAl BT guie BT |

Describe the objectives of material control.

"3 g "9 ArEe G BT fdaRr e g 2
I ST 10 SHIS Ufd FwrE
FATH SUATT 5 SIS Ul AIE

AT ITANT 15 ZPIS Ul TS
O: 3fTaeT AT (31) 60 SHTY
(@) 100 SHE
;3T 3fafey @) 3 | 5 W«rE
@) 2 9 4 9<rE

e AR @ oIy o SIS
(@) g IMMe; ®’R

@ =i wwR

@) SIf¥dad W)

@)  oNd Wld w’R

The particulars of 'A" and 'B' material are as follows :

Normal Usage 10 units per week
Minimum Usage 5 units per week
Maximum Usage 15 units per week
Re-order quantity (a) 60 units

(b) 100 units
Re-order period (a) 3 to 5 weeks

(b) 2 to 4 weeks

(12)

Q2A
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Particulars k.m. Rs.
Cost of Bus 40,000
k.m. during month January 2018 2000
Estimated Life of the Bus 80000
Average number of passengers per k.m. 50
Salaries of drivers, conductors
and cleaners etc. 1,000
Insurance 50
Road Tax 30
License fee 80
Staff salaries 500
Garage rent 200
Petrol 600
Depreciation on tyres 100
Repairs and maintenance expenses 200
Terminal office expenses 500
Bus fare per passenger k.m. 0.06
OR

ORATAT T fafer & 1 AUy 87 I8 fobT Seil # Srs. STl
2? TP PIedTd REe JIard anTd 08 JIR g |

What is meant by "operating costing"? In which industries is it
used? Prepare an imaginary transport operating cost sheet.

Unit - II

g Ta fafdr @ 2? (2)

What is standard costing?
P.T.O.
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ot Far 2? (2)
What is decision making?
feRoT fAeelvo & Yaerad SUART &1 fddad BT | 4)
Discuss the managerial uses of variance analysis.

OR

gaTg arTa fafd @ g A Far 82
What are the main limitations of standard costing?
fFefeiRad sifdsr | AR fa=Ror &1 o oY — (12)
ekt lokLrfod
A 60 fob. T, <R 6 . Tl feb 2. HHT 40 fHI1 X 4 %, Ul fob o,
HHAT 40 fob, T1. <R 4 B, 9T HHET 70 fob, T1. <R 6 . T b

aTd Sare fAfSaeT &1 80% & W fb 80 SabTs 2 | Ufshar BT 20%
=l

g Sedre TSNt &1 70% & S fob 77 goredl © ufshar g
30% © |

From the following data calculate material variances :
(Standard) (Actual)

material 60 k.g. @ 6 Rs. per k.g. material 40 k.g. @ 4 Rs. per k.g.

material 40 k.g. @ 4 Rs. perk.g. material 70k.g. @ 6 Rs. perk.g.

Standard production is 80% if input i.e. 80 units. Process loss is
20%.

Actual output is 70% of input i.e. 77 units. Process loss is 30%.
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The following information at 50% capacity is given. Prepare
a flexible budget and forecast the profit or loss at 60%, 70%
and 90% capacity :

Fixed Cost Amount (Rs.)
Salaries 1,50,000
Rent and Taxes 1,20,000
Depreciation 1,80,000
Administrative Expenses 2,10,000
Semi Variable Expenses

Repairs 3,00,000
Indirect Labour 4,50,000
Other Expenses 2,70,000
Variable Expenses

Material 6,00,000
Labour 7,50,000
Overhead Expenses 1,20,000

Semi variable expenses will not change between 45% and 60%
capacity, will rise by 10% between 60% and 75%. Capacity, a
further increase of 5% when capacity crosses 75%.

Unit - IV

Q4 A AR f=or w87 (2)

What is material control?

Q4B =R @y gl yorell &1 27? (2)

What is perpetual inventory system?

Q.4 C amift =T & H8d Bl AHsSY | (4)

Explain importance of material control.
P.T.O.
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OR

Ueh AN FFO & AN GHG 39 UBR 8§ —

faaRoT ¥ 2015 Y 2016

IATE (SHTE) 1,50,000 1,20,000

IEERNEEE) 1,20,000 1,50,000

W I %. 12,00,000 | %. 12,00,000

A (mfa gaie) 4 4

Al (gTE) 2 2

gRady & (3H13) 3 3

gfa gb1s fasd Jou . 25 HHId ST IR 1A HITIT |

Cost data of a manufacturing company are as follows :

Particulars Year 2015 Year 2016
Production (Units) 1,50,000 1,20,000
Sales (Units) 1,20,000 1,50,000
Fixed Cost 12,00,000 12,00,000
Material (Per Unit) 4 4
Labour (Unit) 2 2
Variable Cost (Unit) 3 3

The selling price per unit is 25/- calaulate the marginal costing.

ol BT T 3T 27

Unit - II1

What is meaning of Budgeting?

gotesy fog=or & 87

What is Budgetary control?

(2)

(2)

P.T.O.

Q3A

Q3B
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OR

U ATl ST & ANTd THG 39 UPR 8 —

faaRoT Y 2015 ¥ 2016

TG (SHTE) 1,50,000 1,20,000

IEERNEEE) 1,20,000 1,50,000

W Y %. 12,00,000 | %. 12,00,000

A (Tfa gaie) 4 4

Al (5TE) 2 2

gRade & (3H13) 3 3

gfe gb1s fAshd Jou . 25 A SN IR ST HITIT |

Cost data of a manufacturing company are as follows :

Particulars Year 2015 Year 2016
Production (Units) 1,50,000 1,20,000
Sales (Units) 1,20,000 1,50,000
Fixed Cost 12,00,000 12,00,000
Material (Per Unit) 4 4
Labour (Unit) 2 2
Variable Cost (Unit) 3 3

The selling price per unit is 25/- calaulate the marginal costing.

ol BT T 3T 27

Unit - II1

What is meaning of Budgeting?

gotesy fogor Fr 87

What is Budgetary control?

(2)

(2)

P.T.O.
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Q.3 C dolc & el &I fadas S | 4) Q.3 C 99 & Sl & fada dIfor | (4)
Discuss the objectives of Budget. Discuss the objectives of Budget.
OR OR
ReR g Td AMER doic | @7 3R 27 Rer g7 Ud AER doic | R 3R 87
What is the difference between fixed Budget and flexible What is the difference between fixed Budget and flexible
Budget? Budget?
Q.3 D ‘golc’ Td goied &1 ST vd W bf quiF A | (12) Q.3 D ‘gvI’ UG gl &l SUAIRIAT U Emel &f avi| S| (12)
Discuss the utility and limitations of budget and budgetary. Discuss the utility and limitations of budget and budgetary.
OR OR
50% & UR FEfRad ga-r <1 T8 €, U QR dolc 9918y 50% &Aar UR FfeRad @ &1 TS 8, U dlFeR dulc g8y
qAqT 60%, 70% Td 90% &HAT UR SATIEI T qaigae I - qAT 60%, 70% Td 90% EFAT TR TR &1 qargar B :
LFkk;h 05 ; JkETk b LFkk;h 05 ; Jk"k dz
CIE 1,50,000 CRE 1,50,000
foRrar ud &R 1,20,000 o vg @ 1,20,000
3TgeTaoT 1,80,000 3TIEYUT 1,80,000
PNINIECRED) 2,10,000 PNISIECIRE) 2,10,000
v/k 1fjoru’khy 0;; v/ 1fjorutky 0;;
R 3,00,000 T 3,00,000
JYTeT #H 4,50,000 UL 2H 4,50,000
I Y 2,70,000 I Y 2,70,000
ifjoRkukhy 0;; ifjoRku*ky 0;;
AT 6,00,000 AT 6,00,000
5 7,50,000 o9 7,50,000
SENEEID| 1,20,000 SERU=E) 1,20,000
aref uRad=eNel a1 45% U9 60% & & gRafda =& 8, 60% aref uRacefier @ 45% 1d 60% & dra uRafda =21 2, 60%
Td 70% @ 99 §TH 10% D1 gfg BN, 75% &AAT & SR 5% DI Td 70% b 41 g4 10% DI glg B, 75% &I B IW 5% DI

FIEl qfE enfi |
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